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= 27,927
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OZHH ANEsSAH 2OUOIH X& 65,804
= 27,927
< 37,877

A SA E83HKIA(AZ) 304,073 257,922 46,151
= 304,073

308 XXIEHHSOIA 304,073 257,922 46,151
= 304,073

01 AXSGHBLELS 304,073 257,922 46,151
OAlZ T3S AMEAEH 2COUIOIH XI& 304,073
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= 36,253
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= 36,253
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OXNASAR B82 X&A(Al - 2) 36,253
= 36,253

)1y & 02018 =4 9,171,809 4,285,936 4,885,873
= 3,642,500
as 3,118,000
< 2,411,309

MIEIY L OIS0 |4 9,171,809 4,285,936 4,885,873
= 3,642,500
as 3,118,000
< 2,411,309
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OA= My A2 2,200
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s 360,000
< 180,000
307 21201 A 240,000 190,000 50,000
s 110,000
< 130,000
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s 110,000
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308 MtXIEHMSOIH 300,000 318,000 A 18,000
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< 50,000
01 HXNHHNBHEES 300,000 318,000 A 18,000
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s 250,000
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2R - ALE BSH0l 225t 322
BIONGI D OB HAtRHE

- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
AAEAL R FEEC 76,673 741,240 A 664,567
101 @14 Hl 76,673 0 76,673
04 JIZHHZ2XNEE S 76,673 0 76,673
OJIZHZ22Xs B+ 76,673
-Jles 47,108
- 02t RE22E 5,916
i DN R 4,557
- g &SIt 4,712
- =&l 3,120
-JIExg 960
-EXNS0HEE =S 5,455
-HERYS (22,08 &) 4,845
HY2HZH (3 H D) 675,953 141,573 534,380
Jl23&dl 136,073 141,573 25,500
Jl=3 136,073 141,573 A5,500
201 et 43,463 43,463 0
01 At 22l 43,463 43,463 0
OJle+=EHl 17,738
OJlz= &l 25,725
202 044l 92,610 92,610 0
01 = LH o4 1l 92,610 92,610 0
OJl=0tl 92,610
el 2 HH| 539,880 0 539,880
QA2 539,880 0 539,880
101 @14l 539,880 0 539,880
03 RIHAZ 22 539,880 0 539,880
OFANELEAZZT 539,880
-Jlaa 1,935,422 x 1201 & «17H 394,827
-oE, 0, 52224
10,820 x150%* 15A1 2k 1200 & «17H 49,664
S PNESS = 17,464
- Y EFOHl 1,935,422 »60%*22| 17 39,483
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